EANRAROESIERT —

ZN—BISH—F

2018510818 (K) 14EIFI5I3H

mﬂf,l 175> RAIE%1 OFFER A1 Yo% —% ‘ Xf&] 2 ‘ [EM] - | & (&) 1800M THE
[x&<£] 1 % :1,000,000 @ ~ 23 :200,000  ~ 3 3#&:150,000 @ 4 7 :100,000 @ . 5 7#& :50,000 M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
118l KII>z7N Ho7 glzﬁ‘gﬁi 1:(5_4).7 3-3-2-2 |39.4| — 1 510 g;;gj (AtiiE)
R:ZA LT Ry 7R By o7oa—3 © FRE%S
— . + R &4 1:55.6 9-9-5-3 [39.6| — 2 520 |EAEHER (dtimdE)
ALY b HEENE =
28|71~ L 56.0 (4) Gy | cHEt
:dr7—3U7> B:U7yY—KLZR =145
3l5/5| A7 4Ly b £ 8 E%%g’éé 1:55.6 1-1-1-1 [ 40.6 | — 8 468 ﬁ}%)?-?ﬁf (1&52‘{5;&%
. NF a-— Vg e
R:F2T 40 B:d->TOTzvvafl ) © 12l verss
4 7| ITa—Fre—n0-— > 8 f‘é*g;%ﬂﬁ 1:56.9 10-10-10-8 | 40.2 | — | 7 | 474 /Jzﬁ;ﬁ\/utfxf_)
o (6) - v
QA R—IvTh—h BI(4EOTS 2| wimns
5(7] 9| X h=2>UN— Ho4 ggioébk 1(:35;4.)0 6-7-5-6 |40.7| — | 4 | 506 %Hﬁz{ (AtiiE)
R:RTARYXN BbhyTLTF 28— (-8) # BB
6 3| O-KTLXF—Y # 6 S#EJB@E% 1:(57).4 10-11-11-9 | 40.3 | — | 11 | 462 Eﬁii\%utﬁi‘é)
. 2 k]
R:xA1=Tr—R BiAyFTR R P A
717]10| ARXERT VLT 6 %‘%it 1:58.0 8-8-9-6 |41.6| — 9 | 504 gi\%g (AtmssE)
. 3 _
YW= Fv—L BT7ATTI-F7 @ -2 JTIK %ﬁ—
gl1[1|AZ>TNN= # o9 | B 4 5-4-4-4 |42.4| — | 10 | 486 ﬁiiﬁgéégﬁ‘é)
WA L= L BixT -T2 "2 | e
9 4| ATLRXZT # 8 suélfigﬂéé%ﬂ 2;(090).3 7-6-8-11 | 43.7| — 5 | 528 HJ\;ZT (AtimsE)
LHLTHANAN B ATLAY LT W) 1550225y K
N EREEE H 6 5?:('5“8@ 2:(01).5 2-2-2-4 | 46.1| — 3 558 ;EJ]IE ifitﬁi‘é)
° 6 FK7] i
RFLTAN— b BiAAHHIETS SR o
11lglie| 7y kA>T # 7| Bt 2(:10/12.>6 4-4-5-9 453 — | 6 | 518 Efﬁgﬁti@‘é)
R:oA7F BANINHFTF 19| g 14s
B 2| N—T A —1 =TI %8 | BRE- o - o — <:) éﬁﬁﬁ{ ()
R:TIAT R84 L Bih—LXA— k=L FRBE%S
® I —F—EBIERL
1 3=7r= 5,6,11,12,1,9,4,10,8, (3,7)
20—F— 5,6,11,(1,12),4,9,10,8,7,3
Jo=3r= 5,(6,11),1,(8,9,12),4,10,7,3
43—+ — 5,11,8,(1,6),(9,10),7,(3,12) ,4
[ F/N=5
B OB 1 160 74K 8-11 180M % E 6-8 240M &8 5-8-11 6,150
% B 11 110M 5-11 2,250M B = 8-11 250/ K31 11-8-5 12,970
8 140M 5-8 2,380 B H# 11-8 330
5 1,080
ABICOVWTRHDTERERRODLDE, THERLE,




